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Section : General English

Q.1 Select the most appropriate synonym of the given word.

Judicious

Ans "e_y/T.Prudent

#< 2. oull
£5 3. Foolish
_.?< 4. Unfair

Question ID : 2390873950
Status : Answered
Chosen Option : 1

Q.2 Select the most appropriate antonym of the word.

Pompous
Ans 1. Arrogant

2'( 2. Calm
?( 3. Impatient

.‘-,f’ 4, Humble

Question ID : 2390873951
Status : Answered
Chosen Option: 2

Q.3 Identify the segment in the sentence which contains the grammatical error. If there is no
error then select '‘No error'.

| have got my Master's degree in 2005.
Ans g/‘ 1.1 have got

£< 2. my Master's degree
#< 3.in 2005
?{ 4. No error

Question ID : 2390873936
Status : Answered
Chosen Option : 2

Q.4 Select the most appropriate meaning of the given idiom.

Miss the boat




Ans 2(: 1. To miss someone you love
#< 2. To lose something important
?(' 3. To forget something at home

‘»af’ 4. To miss an opportunity

Question ID : 2390873954
Status : Answered
Chosen Option : 4

Q.5 Select the most appropriate antonym of the word.

Refined
Ans 2‘(: 1. Cruel

4‘) 2. Crude
?(: 3. Fierce

){: 4. Smooth

Question ID : 2390873952
Status : Answered
Chosen Option : 3

Q.6 Select the correctly spelt word.
Ans 1. Inqusitive

?(: 2. Inqustive
?( 3. Inqisitive

g/ 4. Inquisitive

Question ID : 2390873958
Status : Answered
Chosen Option : 1

Q.7 Select the correctly spelt word.
Ans X 1. Ettiquete

?{ 2. Etiquete
o 3. Etiquette

£ 4. Ettiquette

Question ID : 2390873957
Status : Answered
Chosen Option : 4

Q.8 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

The meeting will start when the manager is arriving.
Ans g/ 1. arrives

,?'(: 2. No improvement
?(, 3. arrived

?(: 4. was arrived




Question ID : 2390873939
Status : Answered
Chosen Option : 4

Q.9 Identify the segment in the sentence which contains the grammatical error.

After the match, every player of the team went back to its house.

Ans ;,?(: 1. team went back
2'( 2. After the match
q/ 3. toits house

?(,— 4. every player of the

Question ID : 2390873937
Status : Answered
Chosen Option : 1

Q.10 Select the most appropriate option to fill in the blank and make a grammatically correct

sentence.
His clothes were way over top for a sombre occasion.

Ans . 1. the

?(: 2. no article
?{ 3.an
?{ 4.a

Question ID : 2390873942
Status : Answered
Chosen Option : 1

Q.11 Select the most appropriate synonym of the given word.

Chaste
Ans ‘u/ 1. Pure

£ 2. Lustful
?( 3. Fascinating

?{ 4. Loyal

Question ID : 2390873949
Status : Answered
Chosen Option : 1

Q.12 Select the most appropriate meaning of the given idiom.

A penny for your thoughts
Ans ?(, 1. Start something all over again

?( 2. Be glad to see someone leave
g/ 3. Way of asking what someone is thinking

?(: 4. To make a bad situation worse

Question ID : 2390873953
Status : Answered

Chacan_Ontinn_: 9,

g /oo Emen




Q.13 Select the most appropriate option to fill in the blank and make a grammatically correct
sentence.

Shailesh finally decided to take a back seat and let his son
Ans ?<-F 1. running

#< 2.torun
K 3. will run

g/ 4. run

the family business.

Question ID : 2390873941
Status : Answered
Chosen Option : 2

Q.14 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

The student asked the teacher if he can come in.

Ans & 1. No improvement
e!/ 2. could come
#< 3. will come

?{ 4. can came

Question ID : 2390873940
Status : Answered
Chosen Option : 2

Q.15 Select the most appropriate option to fill in the blank and make a grammatically correct
sentence.

Megha is attending a teachers' in London.

Ans X 1. connection

#5 2. combination
)"\ 3. connotation

g?” 4. convention

Question ID : 2390873959
Status : Answered
Chosen Option : 1

Q.16 Identify the segment in the sentence which contains the grammatical error.

The recently announcement about various government schemes impacted the society
positively.

Ans & 1. about various government
?(: 2. the society positively
#< 3. schemes impacted

4/ 4. The recently announcement

Question ID : 2390873935
Status : Answered
Chosen Option : 4

v/, ]

Coamnrahenginn®




In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

A recent study (1) by an independent organisation reported that only 15 percent
2) college bound women would consider an (3) girls college. It is clear (4)
women'’s colleges must become co-educational in order (5) survive.

SubQuestion No : 17
Q.17 Select the most appropriate option to fill in blank No.1.

Ans @"'1.conduc‘(ed
?(ﬂ 2. surveyed

?{ 3. interested

?‘{F 4. happened

Question ID : 2390873944
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

A recent study (1) by an independent organisation reported that only 15 percent
2) college bound women would consider an (3) girls college. Itis clear (4)____
women'’s colleges must become co-educational in order (5) survive.

SubQuestion No : 18
Q.18 Select the most appropriate option to fill in blank No.2.

Ans X 1.in
< 2. with
@-;‘J 3. of
x 4. at

Question ID : 2390873945
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

A recent study (1) by an independent organisation reported that only 15 percent
2) college bound women would consider an (3) girls college. It is clear (4)
women's colleges must become co-educational in order (5) survive.

SubQuestion No : 19
Q.19 Select the most appropriate option to fill in blank No.3.

Ans X1 every
‘45/ 2.each
/< 3.all
#< 4.any

Question ID : 2390873946
Status : Not Answered
Chosen Option : --

Comprehension:

v/ ]




In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

A recent study (1) by an independent organisation reported that only 15 percent
2) college bound women would consider an (3) girls college. It is clear (4)
women's colleges must become co-educational in order (5) survive.

SubQuestion No : 20
Q.20 Select the most appropriate option to fill in blank No.4.

Ans x 1. whether
25 2.0
o 3. that
?‘{F 4. this

Question ID : 2390873947
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

A recent study (1) by an independent organisation reported that only 15 percent
(2) college bound women would consider an (3) girls college. It is clear (4)
women'’s colleges must become co-educational in order (5) survive.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank No.5.

Ans X 1.in
.-;“ 2.10
#% 3. with
x 4. of

Question ID : 2390873948
Status : Not Answered
Chosen Option : --

Q.22 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

Manish has not been attending the class for last month.
Ans .A/ 1. since last

?’( 2. No improvement
x 3. from last

?(: 4. throughout later

Question ID : 2390873938
Status : Answered
Chosen Option : 2

Q.23 Select the most appropriate word for the given group of words.

A set of twenty
Ans X" 1 Dozen

g/ 2. Score

MW o Niavian




K 4. Decade

Question ID : 2390873956
Status : Answered
Chosen Option : 4

Q.24 Select the most appropriate word for the given group of words.

A person who rules without consulting the opinion of others.

Ans 1. Aristocrat
,?( 2. Arbitrator
£5 3. Atheist

a") 4. Autocrat

Question ID : 2390873955
Status : Answered
Chosen Option : 2

Q.25 Select the most appropriate option to fill in the blank and make a grammatically correct
sentence.

Surendra tries to ____ his opponents in all the matches.

Ans " 1. intimidate
?(: 2. impersonate
?( 3. intimate

£ 4. initiate

Question ID : 2390873960
Status : Answered
Chosen Option : 3

Section : General Intelligence & Reasoning

Q.1 foreft e v H, 'GLOBE’ @t 'EJMZC’ fermar Sirar g1 %t e mem # ‘WATCH' &l Fe ot ghm?
Ans s 1 UYRAF

£< 2. VYRBF

£< 3. UYSBF

£< 4. UYRBE

Question ID : 2390874572
Status : Answered
Chosen Option : 3

Q.2 T fag g wHieRoT F A0 & SITER el a9 & forg -3t & Hwemreit & oruH # sge
ghm?

15-5+75+30x2=35
Ans X' 1.515

w7’ 2.30,15
£5 3.25
#5 4.530




Question ID : 2390874586
Status : Answered
Chosen Option : 4

Q.3 foreft e WIoT , 'GYM' R 'FXL forar sirem &1 5%t e W # ‘TRAINER' &1 e 1 81T ?
Ans X' 1 POZHLCQ

w’ 2. SQZHMDQ

/< 3. POYFMDQ

#< 4.SQAJMES

Question ID : 2390874573
Status : Answered
Chosen Option : 2

Q4 Y Ry ov Rwedt § ¥ 37 RieeT #1 waT AT SEd S & oF gl saRe 1 ey @
A A T )

e

Ans

w1,

/5 3.

Question ID : 2390874589
Status : Answered




5 e & @ Pl Soak IHIT TR AR B ST B G FAT

P ® © | 2

.....

Ans

/]
x| G

o 4. ®

Question ID : 2390874587

Status : Answered

Chosen Option : 4

Q.6 Prafafae ot =t 39 w0 § crafeda fifee B9 =g T Uty § Rars 23 &)

1. lacunae
2. laminar
3. lacquer
4. lampoon
5. laggard

Ans 7145312
£ 2.54132
£5 3.31425
o’ 4.31524




Question ID : 2390874578
Status : Answered
Chosen Option : 4

Q.7 foreft e wraT &, 'DINNER’ &Y '5-10-15-15-6-19' forar wiar &1 3+t e smor d 'SNACKS' &1 Fe
o ghm ?

Ans .y’ 1.20-15-2-4-12-20
#52.20-162-512-20
£5 3.19-1424-11-19

£< 4.19-51-3-12-19

Question ID : 2390874575
Status : Answered
Chosen Option : 4

Q.8 oA dwear sjaen | &t SEsii ol wise & Hiar @1 a1 &1 SiEe o1 SAgdE T
o 3R sjEe & oy F T freren @1 T w1

4,5, 6,16, (24), 36, (60), 125, 216
Ans X 1. gl s G (A @) Tl & 3 gl e 21
#< 2. el ige e (arg @) Ter & ok g W 21
X 3. e i <t < eyt £
o 4. e A T & TReATd Terd B

Question ID : 2390874582
Status : Not Answered
Chosen Option : --

Q.9 39 ey o1 7= R it iR 21 9 It avg & gwifda & 9 TR g@R 2 uge e §
Twifda g1
T ; hiel : We: ?
Ans xrj.w
£ 2. wed
K 3.7
@/4m

Question ID : 2390874570
Status : Answered
Chosen Option : 4

Q10 v Fwre F A & T WA Ipiodt F e v smERr Fr ik Fer s g A & 98 3o
HpfeRlt ¥ T RT3 Ty I W TF Har R@s &

~

Ans




DTN

> AL

N A
VV‘T}

N A
N N

> T4
S X

o <<
DS

Question ID : 2390874591
Status : Answered

Chosen Option : 3

Q.11 I Ug &I 95+ &, Sit i@ sjen & smt sam)

YVS, ROL, KHE,

Ans X' 1.DBZ

/5 2.EBY
w#’ 3. DAX

#< 4.DAY

Question ID : 2390874568
Status : Answered

Chosen Option: 3

Q.12 = Ry mg FHAl sii Sk st @t earr @ afdg | wuat F & € st @6t Jea 9 gy,
ITE & T TU F 719 a4 @ 9= evra gt, Aol fifSie fr e 1o -3 Ao, st ar
arfher U & SIgERUI AR gl

hY-:

I =woft ufa gz €1
Il o 3 a1

foreent:

I. o 32 ufa g1

Il o ufs =T &1




Ans ' 1. et Frse | SIEROT AT 21
£< 2. 73 R | &R 7 & v 11 SrgeRon gt 81
£< 3. et P |1 SIgeRon aRa 31
A< 4. @ Freemd | 3R 11 10T AR 81

Question ID : 2390874579
Status : Answered
Chosen Option : 4

Q.13 F1,F2, F3, F4 3R F5 ek a9 IR 93 €1 F4, F2 & faegper ard iR 91 1 F3, F5 & faeger e/ 8ilR
T EIF1 Uah AR IR 931 & SR F2 o1 hael Uak USSRl @1 at 391 A=l & &, udes avw &t Al &
ary i & i doT 22

Ans X" 1.F2
o 2.F3
£S5 3.F5
S 4. F4

Question ID : 2390874576
Status : Answered
Chosen Option : 3

Q.14 R, N, 0, W, Q 3iR C To e A & 6-1E &g Fil R g weF IS gIR, W& aims @ik &, 51t O
F AR 8, 0, N & a1 3R A1 81 C, W & 1t & 781 81 Q & s ik api e o1 22

Ans 2(‘ 1.0
o 2. W
#5 3.R
5 ac

Question ID : 2390874577
Status : Answered
Chosen Option : 4

Q.15 et 37 3G F ¥ 37 IF INW F 999 HiAC & A R 71w =it F 9= F gy # g&caq &9
F gafar

O
(D

O
O

Ans




o’ 3.

Question ID : 2390874592
Status : Answered
Chosen Option : 2

Q.16 =¥ Ry 7y w+ierzur &t w0 & gaR e I & g w9-3 &t Rigl &t omad | seern ghm?
64x2+24+3-8=96
Ans ?("-]._IX
.2( 2.+,+
3%+
p

Question ID : 2390874585
Status : Answered
Chosen Option : 3

Q.17 5= faepenl d & ag e A1d RIS it usares fRg (?) & e w= et
71384
41972

8147
Ans 1,104

£ 2.112
£5 3.96
< 4.108

Question ID : 2390874584
Status : Not Answered
Chosen Option : --

Q.18 fw 71g frepeal # § 39 2eg &Y g il g g <1l & T & offix swforg St e & wafda &1
@R, Y, MR
Ans ?(' 1.9
< 2.3
< 338
w431




Question ID : 2390874569
Status : Answered
Chosen Option : 4

Q.19 39 fahed =1 Ta=T o3 St ¥R S1eR-TYg A I TR 4 Teifda & O uaR & Rt sier-wgg
g S1eR-9Yg 9 Hdfda g1

ZB:AY HJ:?
Ans X 1.QN
£S5 2.5P
£5 3.QP

w’ 4.5Q

Question ID : 2390874571
Status : Answered
Chosen Option : 2

Q.20 fAfaiEa e sjiaer & i1 &

620, 670,722,776, ___
Ans X' 1 850

5 2.841
#% 3.859
o 4.832

Question ID : 2390874581
Status : Answered
Chosen Option : 4

Q21 o & ¥ Al & 3o HFT A Ppha & Yoot F U H Pl F g B Al TE L)

N
L/

Ans

/< 3. y

Question ID : 2390874588
Status : Answered




Q.22 af¥ L =7 iR A = 22, iR JAIL = 38, & THIEF =
Ans X154

< 2. 46
£< 3.48
w 4,49

Question ID : 2390874574
Status : Answered
Chosen Option : 3

Q.23 g g wuHl 31k fArsrul @t eamgdes ue sk fAofa & ik i9-8 e arfhes ® @ sl @
STTERUT i &

FHUT:
Uy geg =t Sghie Fart 21

fArsn:
1. IufeAfa e & Fg=fierar &t Fa = 21
1. €t =it & s R g8 3 erquiea saftn & g aard &1

Ans X 1. e i | SIgEROT AT 81
w2, Sherer Foreamed || SFRRUT el B
A< 3. 773 e | 3R 1 & i 11 Srgeror st 81
£, 4. G Foreeme | iR st 11 srgeror aed E1

Question ID : 2390874580
Status : Not Answered
Chosen Option : --

Q.24 fy vw 90T F XY XN W @ AT & & T TR AHFE F F FT W A A & 7 g
T WEY guur giafars g

=

Ans

@
Ol |4




L

w4

Question ID : 2390874590
Status : Answered
Chosen Option: 4

Q.25 I faered o1 ga+1 o Sit It T @ It vehER 9 dfde & o v gt S st e
Foafa gl

625:529::1225:?
Ans X 1.1155

£5 2.1156
£<3.1190
w’ 4.1089

Question ID : 2390874583
Status : Answered
Chosen Option : 4

Section : Numerical Apiitude

Q1w Fal & T A AT B F wse T WS H AFAA 2 1 3 § AT T A HR B A wsnt AR
aforal 1 Ho FEAm F G 3 1 4 ¥ AR B F @Rl B wEwm, B F asH Hr wEwm & 50% §,
ar A 3iv B # wsfrdl & 5 & s fraem gem?

Ans X121 3
@211 ; 12
K33:5
Ka45:8

Question ID : 2390873820
Status : Answered
Chosen Option : 2

Q2 e war #, asfrat @ TEr asE S T F 60% HOw &) asfrat S goen & oser @ slwa
FoT 2.6 kg 3% &1 ofy @shr @t ik wsfRat v silwg a9 50 kg ¥, & @it @ sitwa s
(kg &) FraaT &2

Ans X1 48.8
K2 492
W 3. 49




<4 48

Question ID : 2390873814
Status : Answered
Chosen Option : 4

Q3 el @4 @ A, 20 Rt & 9@ W wabar @ 3R B 3 222 R F 9@ R wEar §1 ¥ A o 6
foelt o v W FA FR & HR AT FE B C g@nr 26 e F @ Fvww e § | A v wy
e 38 F 1 fhaw R & @ e

Ans 1 g &=
o2 9 g
X312 i
X410 f&m

Question ID : 2390873825
Status : Answered
Chosen Option: 1

Q4 6.25% " TRfg <O T T T 3 a9 F 3T 214739 H AR FT 3 F TS Fraaw &2

Ans 1212184
2. 312288
< 3. 312473
<4 212148

Question ID : 2390873824
Status : Not Answered
Chosen Option : --

Q.5 #rr Rar 7 &5 3@ 2013-2017 & et Wi & afdg 3 arcafes soaee (B9iR &F &) & gefar

gl

Target and Actual Production (in thousand tonnes)
of cement in 5 years

O Target
0 Actual
400
350

270

Productioin
]
8

200

100

245 250
; -

400

300

450

355

330

2013 2014

2015

Years

2016

2017

a§ 2014 3k 2016 F Hioie & To Ff@T o 3R 2013, 2016 TFT 2017 F FoT AEATIF Seaet

FT I &

Ans K19 110
K27:9
3. 4:5
K434




Question ID : 2390873833
Status : Answered
Chosen Option : 3

Q.6

Ans

A & 1 Ao Tk R AR sifest & amgfer ko @ el &

T 0- |25- | 50-|75- | 100-
HeaTeT (25|50 |75 | 100 | 125

ygied |2 |7 |6 |3 |8

TF W & T H, 77 TRUAT H g Fod setadt (Cl) F enfder frar smar §; 3k w3 Cl,
AT T Tige, ¥ S0 IRAAT F ger 7@ Jer B

T 71 3Trst & T, x AlSer Folrdg & 98 9T ¢ 3R y AT Fora fr Heer a_dEr g a9
(2x - By) # AT fhder B2

1.0

<2 -25
<3 25
4 -50

Question ID : 2390873816
Status : Not Answered
Chosen Option : --

Q.7

Ans

AT AT G x, 4 3@ B gad g & ¢, O 7, 8 3 11 @ e e W FAe 4, 5 3w 8
AT FIT B FT x (7 + 8 + 11) ¥ Renia fraw swan ¥, g9 oW gem

K123
2. 25
<3 21
419

Question ID : 2390873810
Status : Not Answered
Chosen Option : --

Q.8

Ans

forelt avq @1 T gfoay 15% Fg Sar g1 afy dret af 3k =i a¥ & aia F 3u% qeat w7
2193.20 ¥, & gAY I % 3 F 3HF Hed F 90% e H & FiaT &7 am

1. 31008
~ 231120
X 3 21064
X 4 3896

Question ID : 2390873817
Status : Not Answered
Chosen Option : --

Q.9




Ry fr T €3 3 2013-2017 F e ¥nie ¥ a3k aeafaw 3T (B9 e &) @ gufar
gl

Target and Actual Production (in thousand tonnes)

of cement in 5 years
500

O Target 450
0 Actual 400 400
400 — 555 .
3 350
£ , 330
g 300
300 270 Y
-§ 245 250
e -~
200
100
0 -
2013 2014 2015 2016 2017

Years

T 71w 5 auf #F & fre aul & diie @ @ 3, e ¥ TEaRE diHa 3eET ¥ 22.5% 0w
aqr?

Ans 12014, 2016
/2. 2015, 2016
X 3 2015, 2017
X 4 2014, 2015

Chosen Option : --

Question ID : 2390873832
Status : Not Answered

Q.10 feh avg &1 ik AT 30F AFT qod F 42% J0F a1l AR TFG F FTH W 20.7% FT T G
¥, o 97g ¥ 3% T W & 9 ge @ FRYd &

ans X1 15,6
X216
/3 15
X 4143

Chosen Option: 3

Question ID : 2390873815
Status : Answered

Q1T g7 A 31T B T carsal &1 e 5 : 3 ¥ AR 3orbr aifarat T e 2 ¢ 3 1 Rl fgar F o
y,&AmBﬁmmﬁzi TAC &1 TAT 97| U TR TN (RUAY 9ol AR A &
A Zarr o s wwT (fee 6) &

Ans ?(’\'-]‘ 2

<23
o 3. 123

32
23

KaZ

18

Question ID : 2390873828
Status : Not Answered

Chosen Option : --
]




Q.12 gz A 3T B v oY ¥F #1 FAEw 20 6 3 156 9 & @l Y g T, Fatk 360 & @ 9wy C
3T x U H o Tohal g1 Il BT Tk AT T 2T 1T 33K 3@ F & 1/18 (one-eighteenth)
AT T TN Fl A 40 7T &1 7AT AT x & AT &

ans X1 21
o2 30
X3 26
X4 24

Question ID : 2390873826
Status : Not Answered
Chosen Option : --

Q.13 zfy 728000 @ TR w¥ 3 auf & el a7 9 IR =ATer, 227000 Fr U 9T 3 asf & 38 aT &
mmﬁzzzsm%,ﬁmawzsssoowzg auf $Y WURT sAT Fraer gen?

Ans 1. 26966.50
2. 26922.50
< 3. 26953.00
#< 4. 26723.50

Question ID : 2390873823
Status : Not Answered
Chosen Option : --

Q14 o zfFa 390 km #r g 3.2;dﬁ s;u m; FEEr N, m/sec &, &
Ans 7. 333

<224

X2 302

K425

Question ID : 2390873827
Status : Answered
Chosen Option : 3

Q.15




A 2T s &3 am@ 2013-2017 ¥ SR e ¥ i it aafas Scues (9IR & #) &t aufar
gl

Target and Actual Production {in thousand tonnes)
of cement in 5 years

O Target 450
o Actual 400 400
400 — ss5 R
< 350
Gl ) 330
3 300
2 300 270 -
e 245 250
e 2l
200
100
0 - -
2013 2014 2015 2016 2017

Years

2013 & 2017 & HHT & Fo WIfeId Scaiee I el S, 2014, 2015 3K 2017 #F o aveafa®
3EUEA 87 (SUHT F UFH TAF de)

Ans 1522
#2514
#3532
4528

Question ID : 2390873834
Status : Not Answered
Chosen Option : --

Q.16 15 Fwaral @ 3iaa 45 &1 yuH o geas’ & dag 42 § 3 i o et @ sitwa 43 §
73t we, 84 Wear H AFFT €, Al Off W § 5 30w €1 a 747 Jiv o wemnad # sitwa
e 2?2

Ans /1. 655
X2 64
X3 555
X 4. 65

Question ID : 2390873813
Status : Answered
Chosen Option : 1

Q17 Frr i f, y > 035 : 15 = x: 90 3162 1y = y : 128 &, a9 8x : y fveds awmem &
v .50 3

K210 : 7

K33:2

Ka4d:3

Question ID : 2390873822
Status : Not Answered
Chosen Option : --

Q18 5. 140f2—TXT+49+20f (14+T+7)+7—14+2 & AT &:




Question ID : 2390873811
Status : Answered
Chosen Option: 2

Q.19 2541 wiemeR argew 3, e weis $ Bewr 1 om ¢, # RuereR w o awm@r s g1 w9 @
9SS &SheT (Fo7 em? #H) fHeeaw w9 F gem

ans - X1.1936

o’ 2. 2904

/< 32982

/4 3168

Question ID : 2390873831
Status : Not Answered
Chosen Option : --

Q.20 =

[T T AT Thde &

1.3 2
+(s1+20f 2)=8xZxlor1l
Ans 2(,'1 15

xz.s
K3 -3

13
W
o p

Dlel—‘

Question ID : 2390873812
Status : Not Answered
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